
Which of these things is not like the other? 

Materials needed: 
• one 6-sided die
• Whiteboard/dry erase pens/erasers – for keeping score
• Game Cards 

To play: 
Shuffle the cards and put them in a stack where everyone can reach them.  

Players take turns rolling the die and drawing a card. 
• Even number = same – player must identify the two options that are the same.  If correct, 

score 2 points. 
• Odd number = different – player must identify the option that is different.  If correct, score 1 

point. 

If a player rolls the die off the table – lose a turn. 

To win:  Player with the most points when either all the cards are gone or time is up wins. 

Printing: Print one-sided
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4.2.B – Expanded Form
Practice: Which of these things is not like the other
Note: Some parts of these materials are taken directly from released STAAR tests Copyright © 2015-2021. Texas Education Agency. All Rights Reserved. Used by Permission.

Note: Answers below are the one that is different. 
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1. Which of these things is not like the 
other? 

A. 62,630 

B. 60,000 + 2,000 + 300 + 300 + 3

C. (6 X 10,000) + (2 X 1,000) + (6 X 100) 
+ (3 x 1) 

2. Which of these things is not like the 
other? 

A. The sum of two ten thousands, one 
hundred and four tens

B. The sum of two ten thousands, one 
hundred and four ones

C. 20,140

3.Which of these things is not like the 
other? 

A. 66,507

B. 60,000 + 6,000 + 500 + 7

C. The sum of six ten thousands, six 
thousands, five hundreds and seven 
tens

4. Which of these things is not like the 
other? 

A. (4 X 1,000) + (7 x 100) + (6 X 1) + 
(2 X 1) 

B. 4,000 + 500 + 200 + 60 + 1 + 1

C. 4,762 

5. Which of these things is not like the 
other? 

A. The sum of fifty-seven thousands, 
one hundred and thirty-three ones

B. (5 X 1,000) + (7 X 1,000) + (1 X 100) + 
(3 X 10) + (3 X 1)  

C. 57,133

6.Which of these things is not like the 
other? 

A. 25,000 + 25,000 + 3,000 + 60 + 2 

B. The sum of five ten thousands, three 
thousands, six tens and two ones

C. The sum of five ten thousands, three 
thousands, six hundreds and two ones 
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7. Which of these things is not like the 
other? 

A. A. 17,270

B. 10,000 + 7,000 + 200 + 7 

C. (1 X 10,000) + (7 X 1,000) + (2 X 
100) + (7 X 10) 

8. Which of these things is not like the 
other? 

A. The sum of two ten thousands, 
four thousands, and eight tens

B. The sum of twenty-four thousands 
and eight tens 

C. 24,800

9. Which of these things is not like the 
other? 

A. 1,303

B. 1,000 + 300 + 30 

C. The sum of one thousand, three 
hundreds and three tens 

10. Which of these things is not like the 
other? 

A. 30,000 + 800 + 20 + 7

B. 30,000 + 8,000 + 20 + 7 

C. 30,827

11. Which of these things is not like the 
other? 

A. The sum of eight thousands, three 
hundreds and sixty-two ones

B. (8 X 1,000) + (3 X 100) + (6 X 10) + 
(2 X 1) 

C. 80,362 

12. Which of these things is not like the 
other? 

A.  90,000 + 3,000 + 3,000 + 40 

B. The sum of ninety-three 
thousands, three hundreds and 
four tens

C. The sum of nine ten thousands, 
three thousands, three hundreds 
and four tens
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13. Which of these things is not like the 
other? 

A. 34,065

B. 30,000 + 4,000 + 60 + 5

C. (3 X 10,000) + (4 x 1,000) + (6 X 
100) + (5 x 10)  

14. Which of these things is not like the 
other? 

A. The sum of four ten thousands, 
four thousands, nine tens and five 
ones  

B. The sum of four ten thousands, 
four thousands, nine hundreds 
and five ones

C. 44,905

15. Which of these things is not like the 
other? 

A. 80,215

B. 80,0000 + 2,000 + 10 + 5 

C. The sum of eighty thousands, two 
hundreds, one ten and five ones

16. Which of these things is not like the 
other? 

A. 90,000 + 1,000 + 200 + 70 

B. 91,000 + 200 + 70

C. 91,207 

17. Which of these things is not like the 
other? 

A. The sum of eight ten thousands, 
five thousands, five hundreds, and 
five ones 

B. (8 X 10,000) + (5 X 1,000) + (5 X 
100) + (5 X 10) 

C. 85,550

18. Which of these things is not like the 
other? 

A. 10,000 + 1,000 + 900 + 70 + 3

B. The sum of eleven ten thousands, 
nine hundreds, seven tens and 
three ones 

C. The sum of eleven thousands, nine 
hundreds, seven tens and three 
ones
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19. Which of these things is not like the 
other? 

A. 19,707

B. 19,000 + 700 + 70 

C. (1 X 10,000) + (9 X 1,000) + (7 X 
100) + (7 X 1) 

20. Which of these things is not like the 
other? 

A. The sum of two ten thousands, 
one thousand, seven hundreds, 
and fourteen ones 

B. The sum of twenty ten thousands, 
one thousand, seven hundreds 
and forty ones 

C. 21,714

21. Which of these things is not like the 
other? 

A. 33,774

B. 3,000 + 300 + 70 + 4  

C. The sum of three ten thousands, 
three thousands, seven hundreds, 
seven tens and four ones

22. Which of these things is not like the 
other? 

A. 9,000 + 600 + 30 + 2 

B. 90,000 + 600 + 30 + 2

C. 90,632

23. Which of these things is not like the 
other? 

A. The sum of three thousands, five 
hundreds, three tens and four 
ones 

B. (3 X 10,000) + (5 X 100) + (3 X 10) 
+ (4 X 1)

C. 30,534

24. Which of these things is not like the 
other? 

A. 20,000 + 400 + 80 

B. The sum of two ten thousands, 
four thousands and eight 
hundreds

C. The sum of twenty-four thousands 
and eight hundreds 
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25. Which of these things is not like the 
other? 

A. 46,065

B. 40,000 + 6,000 + 60 + 5 

C. (4 X 10,000) + (6 X 100) + (6 X 10) 
+ (5 X 1) 

26. Which of these things is not like the 
other? 

A. The sum of nine ten thousands, six 
thousands, three hundreds and 
one

B. The sum of ninety-six thousands, 
three hundreds and one

C. 96,310  

27. Which of these things is not like the 
other? 

A. 9,410

B. 9,000 + 400 + 10

C. The sum of nine ten thousands, 
four hundreds, one ten 

28. Which of these things is not like the 
other? 

A. 40,000 + 900 + 10 + 8 

B. 40,000 + 9,000 + 10 + 8

C. 49,018

29. Which of these things is not like the 
other? 

A. The sum of five ten thousands, 
nine thousands, six hundreds, six 
tens and eight ones

B. (5 X 10,000) + (9 X 1,000) + (6 X 
100) + (8 x 1)   

C. 59,668

30. Which of these things is not like the 
other? 

A. 10,000 + 8,000 + 20 + 4

B. The sum of one ten thousand, 
eight thousands, two tens and 
four ones

C. The sum of eighteen thousands, 
two hundreds and four ones 
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